


POLL QUESTION -01

 The area of ABC and DEF are equal. So we can say that ABC and DEF must be 

congruent.

(a) True

(b) False



 ABC and DEF are congruent. So the area of ABC and DEF are must be equal.

(a) True 

(b) False  

POLL QUESTION -02



 ABC is a Right Angle triangle, ∠ACB=90°.BCHK and ABED are two squares. CL ⊥ 𝐷𝐸. 

What is the area of BCHK?

(a) Δ BCM

(b) BCLE

(c) Δ ABK

(d) 2 × Δ ABKH
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POLL QUESTION -03



 ABC is a Right Angle triangle, ∠ACB=90°.BCHK and ABED are two squares. If CL ⊥

𝐷𝐸 then  what will be the value of (2× Δ𝐵𝐶𝐸)?

(a) BMLE

(b) ΔBME

(c) 2 ×BMLE

(d) 2 ×BCLE
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POLL QUESTION -04



 Area of all the triangular regions having same base and lying between the same pair of parallel 

lines are equal to one another.

THEOREM 36



 Area of a triangle is exactly half of the area of a parallelogram lying on the same base and 

between the same pair of parallel lines as the triangle. 

THEOREM 37



 Parallelograms lying on the same base and between the same  pair of parallel lines are 

of equal area. 

THEOREM 38



 Pythagoras Theorem:
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THEOREM 39



 Construct a parallelogram with an angle equal to a definite angle and area equal to that 

of a triangular region.

CONSTRUCTION 13



 Construct a triangle with area of the triangular region equal to that of a quadrilateral region.

CONSTRUCTION 14



Construct a parallelogram, with a given angle and the area of the bounded region equal to that of  a 

quadrilateral region.

CONSTRUCTION 15



EXERCISE-15



5. Prove that, the diagonals of a parallelogram divide the parallelogram into four equal 

triangular regions.



6. Prove that, the area of a square is half the area of the square drawn on its diagonal.



7. Prove that, any median of a triangle divides the triangular region into two regions of equal 

area.



8. A parallelogram and a rectangular region of equal area lie on the same side of the bases. 

Show that, the perimeter of the parallelogram is greater than that of the triangle.




